
C-100 Screen Coater 
Assembly, Operating, and Maintenance Instructions 

Doc. # 01‐18‐005 

 Screen Coater Assembly  2 

 Stand Assembly (optional)  3-4 

 Safety, Operation, and Maintenance  5 

 Warranty  6 

Serial Number: 

(Please log your machine's serial number and date of purchase for future reference.) 

Date:____/____/______ 

Electrical Drawing #: Rev:______ 

Pg # 

VTX 

Vastex E-mail assistance 
 
Purchasing & Product Info: 
sales@vastex.com 
  
Electrical Support: 
stech@vastex.com 
Tech Support, Mechanical Setup, and Operation: 

techsupport@vastex.com 
Screen Printing Issues & Support: 
printech@vastex.com  

Original InstrucƟons Year of Manufacture:  2014 

Vastex International, Inc. 
1032 N. Irving St.  
Allentown, Pa. 18109 USA 
Phone# 610 434-6004  Fax# 610 434-6607  
Web Site  www.vastex.com 
 
Authorized Representative in Europe: 
Certification Experts BV 
Nieuwstad 100 1381 CE Weesp,  
The Netherlands  
Tel : + 31 (0) 294 – 48 33 55  
Fax : + 31 (0) 294 – 41 46 87  

Shown with opƟonal stand 



Assembly 

Tools Needed: (1) Philips Head Screwdriver 

Procedure 
1)  Slide Lower Screen Holder Assembly onto spine as shown.  AƩach 2 extension springs as shown. 

2)  Install Upper Screen Holder by rotaƟng counter clockwise sliding right hand tab into the right hand slot of spine then ro‐

tate clockwise sliding leŌ hand tab into the leŌ hand slot.   

3)  Install Wall Mount Plate using 3 screws and hollow wall anchors supplied. 

Upper Screen Holder 

Lower Screen Holder Assembly 

Extension Springs 

Wall Mount Plate 

Spine There are 4 rectangular slots on 

the leŌ hand and right hand side 

of the spine.  This is used for the 

Upper Screen Holder and various 

screen sizes.  The upper most slots 

are for a 36 inch tall screen then 

the next set of slots are for a 31 

inch tall screen.  The 3rd set from 

the top are for a 28 inch screen 

When coaƟng a 23” MZX screen move spring to top posi‐

Ɵon.  This will increase the tension. 

Spring MounƟng Plate 



Stand Assembly 

OpƟonal Screen Coater Stand Assembly 

Tools Required: 

7/16”, 1/2” & 9/16” Wrench 

Adjustable Wrench  

1) PosiƟon the legs as shown below 

and bolt together with 1/4” bolts and serrated lock 

nuts. Do not fully Ɵghten at this Ɵme.  

Square Post 

Cross Bolt 1/4” x 2‐1/4” lg. & lock nut 

2) Slide the square post, with the center hole at the boƩom and the (2) 5/16” bolts/floaƟng nuts at the top, into 

the square hole created by the legs. Insert the 1/4‐20 x 2 1/4” lg. hex head bolt through legs and square post and 

fasten with 1/4” serrated lock nut. Tighten with a 7/16” wrench. Evenly Ɵghten all hardware in the assembly. (Do 

not over Ɵghten.) 

3) Turn the assembly over and install four levelers or (opƟonal) casters, one at the end of each leg with (4) 3/8” 

serrated nuts. Tighten using 9/16” wrench. 

 

Shown with opƟonal casters 



Stand Assembly 

Hardware List: 

A– 1/4 –20 x 1/2” Hex Head Bolt (6) 

B– 1/4—20 Serrated Lock Nuts (6) 

1)  Install (3) “L” mounƟng brackets to the back of the wall mount using (3) 1/4—20 x 1/2” bolts and nuts.  Leave 

loose. 

2)  Install (3) flat mounƟng plates on the boƩom of the “L” mounƟng brackets using (3) 1/4—20 x 1/2” bolts and nuts.  

Leave loose. 

3)  Carefully slide wall mount with brackets aƩached (leaving the bolts loose) down the stand tube.  When the posi‐

Ɵon desired is complete Ɵghten all bolts and nuts. 

Stand to Wall Mount Brackets (6). 

(3) of each. 



Safety Instructions  
 The operator should read and understand the instrucƟon manual before operaƟng this equipment. Store instruc‐

Ɵon manual and safety instrucƟons near equipment for easy access to operators. 

 VASTEX Screen Coater is intended for the coaƟng of screen prinƟng screens. Do not use for any other purpose 

unless authorized by Vastex InternaƟonal, Inc. Use of this equipment for any other purpose can be dangerous 

and may cause damage to this equipment voiding the warranty.  

 It is recommended that the area around this equipment be designated as a work area and only authorized em‐

ployees are allowed in this area. 

 Children and pets must be kept clear from the work area. 

 Never leave equipment unaƩended. 

 Operator must be familiar with operaƟon of the screen coater. 

 Only qualified technicians should be allowed to make repairs on the VASTEX Screen Coater. 

Operation 
1) Before using the screen coater make sure the unit is clean and dust free.  

2) Place the Upper Screen Holder is the desired posiƟon.  Insert lower porƟon of screen into the Lower 

Screen Holder Assembly while pushing down.  Rotate the top of the screen underneath the Upper Screen 

Holder.  The screen is now ready to be coated. 

3)  To remove the screen push down lowering the Lower Screen Holder Assembly and rotate the screen 

out from the Upper Screen Holder. 

Maintenance 

1) Every month, inspect the Screen Coater for loose bolts and Ɵghten if necessary. 



Vastex Warranty 
Doc#01‐00‐005B    Revised 04/10/12 

(1.) Vastex, hereinaŌer referred to as “seller” warrants only to its original “purchaser”, who holds a copy of the original invoice and is the original end user of the equipment in quesƟon, 
its new equipment against defects in materials or workmanship on a pro‐rated basis. Warranty period begins from date of shipment to the buyer and will only apply to customers paid 
in full. Warranty periods are as follows: one (1) year for E‐1000, three (3) years for all other complete machines (including F‐Flash), fiŌeen (15) years for infrared heaters (excluding F‐
Flash) installed by Vastex in a new dryer, three (3) years for replacement infrared heaters, and one (1) year for replacement parts. Rubber blankets, light bulbs and glass on exposure 
units are parƟcularly subject to wear while in use. Wear is not covered by this warranty but as stated above only manufacturers defects are covered.  All sales made through Vastex 
dealers must be cerƟfied by that dealer before a warranty replacement is issued. 

 

(2.) This warranty is expressly conƟngent upon the buyer delivering to seller, at the address below, with all transportaƟon charges prepaid, the part or parts claimed to be defecƟve 

within the above menƟoned warranty periods stated in paragraph one.  The defecƟve part or parts will be repaired or replaced at the discreƟon of Vastex InternaƟonal, Inc. If the 

equipment in quesƟon is less than one (1) year old, it will be shipped to the customer at no charge, with an RGA issued by Vastex for the defecƟve part.  The defecƟve part must be 

shipped back to Vastex freight prepaid within 30 days or the account will be billed.  If the equipment is more than a year old, the part will be shipped aŌer we receive the defecƟve 

part.  If it’s necessary to expedite the movement of parts and to minimize down Ɵme to the buyer, the replacement part shall be supplied on a C.O.D. basis. If tesƟng and analysis of 

said part by the seller or its supplier discloses that said part is defecƟve, the cost of said part will be refunded to the buyer on a prorated basis. 

 

(3.) Except as otherwise provided herein, the equipment is being sold “as‐is”. Final determinaƟon of the suitability of the equipment for the use contemplated by the buyer, is the sole 
responsibility of buyer, and seller shall have no responsibility in connecƟon with the suitability. 

 

(4.) All warranƟes implied by law, including the implied warranƟes of merchantability and fitness are hereby limited to workmanship and defecƟve parts to a warranty period stated in 
paragraph one. The express warranty and remedies contained herein and such implied limited warranƟes are made solely to the sole warranƟes and remedies and are in lieu of all other 
warranƟes, guarantees, agreements, and other liabiliƟes, whether express or implied, and all other remedies for breach of warranty or any other liability of seller, in no event shall seller 
be liable for consequenƟal damages. 

 

No person, agent, distributor, or service representaƟve is authorized to change, modify or extend the terms hereof in any manner whatsoever. 

These terms and condiƟons are an essenƟal part of the transacƟon between the parƟes and consƟtute the enƟre agreement between them with respect to the same. 

Some states do not allow limitaƟon on how long an implied warranty lasts of the exclusion or limitaƟon of incidental, or consequenƟal damages, so the above limitaƟon may 
not   apply to you. 

This warranty gives you specific legal rights, and you may also have other rights which vary from state to state. 

Infrared heaters are the only replacement parts covered for a period of (3) years from date of shipment and conƟngent to receipt of payment in full. 

 

Electrical components cannot be returned once installed unless proven defecƟve. 

Please refer to doc. 01‐00‐015 for specific terms and condiƟons of sale and the limited warranty. 

Please refer to doc. 01‐00‐017 for V‐2000HD printer warranty. 

 

Updates: V1000 to 3 year warranty 01/09/12, Heater warranty to 15 years 01/02/2012. 

‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐‐ 

 

 TERMS AND CONDITIONS OF SALE AND LIMITED WARRANTY    Doc.#01‐00‐015 

 

1.    Buyer’s order will consƟtute an offer in accordance with the terms hereof and such offer, upon acknowledgment of Seller, will consƟtute the agreement between Buyer and 
Seller. Buyer’s order aŌer such acknowledgment by Seller will not be subject to cancellaƟon, change or reducƟon in amount, or suspension by Buyer of deliveries, unless prior to 
such acƟon Buyer has obtained  Seller’s wriƩen consent. Notwithstanding anything to the contrary in Buyer’s Purchase Order or other communicaƟons, the parƟes agree to be 
bound by these Terms and CondiƟons. Acceptance of the product by the Buyer shall be deemed to consƟtute uncondiƟonal acceptance of these Terms and CondiƟons. 
         

2.    Any of these terms, condiƟons and provisions of Buyer’s order which are inconsistent with Seller’s acknowledgment and these Terms and CondiƟons of Sale shall not be binding 
on the Seller and shall be considered not applicable to any sale so made. No waiver, alteraƟon or modificaƟon of any of the provisions on either side of the document shall be 
binding upon Seller unless agreed to in wriƟng by Seller. 

3.   (a) All prices are F.O.B. Seller’s Plant and method of delivery and rouƟng shall be at Seller’s discreƟon, unless specifically otherwise stated herein. Notwithstanding any agree‐
ment to pay freight, delivery of products purchased hereunder to a common carrier or licensed trucker shall consƟtute delivery to Buyer and be determinaƟve of the date 
and Ɵme of shipment and all risk of loss or damage in transit shall be borne by Buyer. If the Buyer fails to accept the goods from the common carrier or licensed trucker, the 
Seller shall be enƟtled to claim payment from the Buyer. Seller shall arrange for storage, the risk and the cost, including insurance costs, to be borne by the Buyer (and Buyer 
agrees to pay such amounts upon demand) except if the failure to accept delivery is due to any of the excepƟons noted in Paragraph 4.  

        (b) Terms of payment shall be as stated on invoice. 

4.    It is understood that deliveries will be made in accordance with Seller’s regular producƟon schedule. Every reasonable effort will be made to meet the Buyer’s required delivery 
dates but Seller will not be liable for damages or be deemed to be in default by reason of any failure to deliver or delay in delivery due to any preference, priority, allocaƟon or 
allotment order issued by the Government, whether Federal, State or local, or causes beyond its control including but not limited to, Acts of God or a public enemy, acts of Gov‐
ernment, fires, floods, epidemics, quaranƟne restricƟons, strikes, lockouts, freight embargoes, severe weather, unavailability of materials or shipping space, delays of carriers or 
suppliers or delays of any subcontractors. Should delay in delivery be caused by any of the circumstances menƟoned in this paragraph, such extension of the delivery period shall 
be granted as is reasonable under the circumstanced of the case. Should delay be caused by an event not specifically menƟoned in this paragraph, damages will be limited to 
cancellaƟon of the purchase order without penalty, and refund of any monies deposited or prepaid on the purchase order with no liability for any consequenƟal or incidental 
damages. 

5.    Seller reserves the right to increase the prices prior to Seller’s acceptance of order and/or aŌer expiraƟon of any price quoted by Seller. 


